Tuesday — Mr Jennings' group

1) . .
Can you write the missing numerators?

40 51
+ il
60 60 60

33 115

+ =
116 116 116

95 209
329 329 _ 329

326 148
480 480 480




2)

Complete the part-whole models

coso 00




3)

Complete the following:

"'llllH ——

7
12158 12 1 LN 2
10 10 10 10 10




4)

Follow the rule above each arrow to complete the fractions from start to finish.

1127
1731



ANSWERS

Can you write the missing numerators?

11 40 51

+
60 60 60

33 82 115

+
116 116 116

304 95 209
329 329 329

326 178 148
480 480 480




Complete the part-whole models

coc00e

Beoe 06 6




Complete the following:

5 4 3 2 1
7 7 7 7
8 6 2
12 1 4192 1 (2| & &) 2
10 10 10 10 10 10 10 10




Follow the rule above each arrow to complete the fractions from start to finish.

35
120

604
918

1127
1731



